O| =} XtEH =t

g0l 2[A

2

ol
=x

IAME 7Y A=

(®)
|_

A=

=

50

Hr

Hr

ol

L Ct.

b

10| Of A O] =~=3}{Of

o
=

el 2= 8

(=]

# S 0

otL|at m=]

ofl

ofl
0

or
&l
or

o
E

il

70

-

KO

a. AtO|H{ Z4 I A (http://cyber.ewha.ac.kr) ==

nl
i
K|

fird

w

M.

ol
E

—t

10

ar

Hr

2l A

F2HO| 20|&=

-3

=3

=2

2| AH Ol M= ADLEZ/Ef =S pcOf| Ct

==
=

b. AFO[E{ZHIH 2 O

| pPcEE WEO0|F=THs

od
oI

2| #| 0|44 0] Of

=
=

~ of

(*AFO| B Z I

=7tS)

e HwolM &8 “ts

!

‘== 2

L S R

LR

H

°

Kir
ol
hill
Kiu
Klo

¢+


http://cyber.ewha.ac.kr/

